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1 Mow is the standard error of the mean affected by increasing the sample size from

100 to 16007 (10 43
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Suppose that an economist wanted to use the yearly rate of productivity growth i the

Taiwan (X) to predict the percentage change in tlie Taiwan Stock Market Index (V).
A regression model was Lit with tlie following results:

Y =

-200 + 3X;

3.1 Whatistlieinterpretation of this model? (10 4})

32

Maiket Index? (10 43)

If the productivity growth rate is double of tlielast year, how about the Stock
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6. If aresearcher rgjects a true null hypothesis, what kind of an error has she made'?

(1051)

7 {iil#H cluster filiF? (10 53)
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